V_for_R_10K (V)
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.6605 % 0.00049 (0.03%)

A =-2.8349 + 0.0024 (0.085%)

tau =1.0943e-06 & 1.6e-09 (0.14%)
Constant:

X0 =2.57e-05

xz = 3e+03 (= 12 per DoF)
P(>) =0
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V_for_R_20K (V)
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.6605+0.00049 (0.03%)

A =-2.8349 + 0.0024 (0.085%)

tau =1.0943e-06 + 1.6e-09 (0.14%)
Constant:

X0 =2.53e-05

)(2 = 3e+03 (= 12 per DoF)
P(>) =0
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V_for_R_30K (V)
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.6558+0.00054 (0.033%)

A =-2.685+ 0.0021 (0.08%)

tau =1.649e-06 % 2.3e-09 (0.14%)
Constant:

X0 =2.51e-05

x’  =1.46e+03 (= 5.52 per DoF)

P(>) =0
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V_for_R_40K (V)
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.6323 +0.00050 (0.031%)

A =-2.451+0.0019 (0.077%)

tau =2.140e-06 % 2.9e-09 (0.14%)
Constant:

X0 =2.5e-05

%’ =1.23e+03 (= 3.81 per DoF)

P(>) =0
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V_for_R_50K (V)
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time_ (us)

Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.6214+0.00050 (0.031%)

A =-2.837 + 0.0018 (0.062%)

tau =2.483e-06% 2.8e-09 (0.11%)
Constant:

X0 =2.45e-05

%’ =1.13e+03 (= 3.2 per DoF)

P(>) =0
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V_for_R_60K (V)

time_ (us)

Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.5988  0.00058 (0.036%)

A =-3.0335+0.0016 (0.053%)

tau =3.047e-06 % 3.2e-09 (0.1%)
Constant:

X0 =2.39e-05

v’ =1.68e+03 (= 4.78 per DoF)

P(>) =0
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V_for_R_70K (V)
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time_ (us)

Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.56268+0.00045 (0.029%)

A =-2.9501 +0.0015 (0.05%)

tau =3.538e-06 & 3.3e-09 (0.093%)
Constant:

X0 =2.36e-05

x°  =1.32e+03 (= 2.8 per DoF)

P(>) =0
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V_for_R_80K (V)
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time_ (us)

Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.5912 +0.00048 (0.03%)

A =-2.980 + 0.0013 (0.044%)

tau =4.279e-06  3.8e-09 (0.089%)
Constant:

X0 =2.32e-05

%°  =1.78e+03 (= 3.58 per DoF)

P(>) =0
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V_for_R_90K (V)

L I I I b | i

40 _:"u . —
0- 0’. -

L %y -
40 ¢ -~

25 30 35 40 45
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.50797 +0.00054 (0.036%)

A =-2.617 + 0.0014 (0.053%)

tau =4.1000e-06 % 4.5e-09 (0.11%)
Constant:

X0 =2.36e-05

x°  =235e+03 (= 5.32 per DoF)

P(>) =0
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V_for_R_100K (V)
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Function: y0 + A*exp(-(x-X0)/tau)
Coefficient values + one standard deviation
y0 =1.5731+0.00066 (0.042%)

A =-2.611+0.0013 (0.049%)

tau =4.7895e-06 + 5.5e-09 (0.11%)
Constant:

X0 =2.35e-05

%’ =817 (= 1.91 per DoF)

P(>) =0



